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a’b=c:d — ad=bc, y=ax. y=ax+b (a:fHX, b:yHf) . yb=ax, y=alx-k).

y=ax 2, y=ax2tbx+c, y=m/x,

2)=ftk, =AM, ERXEH, RIKER, INEERH, 441 7 —DAK
sin 0 =alc, cos 0 =b/c, tan 6 =a/b, (sin ) »=sinn 0 & K7, 1/sin 0 =(sin 0 )1,
sin(2nn+0)=sin cos HLIAEE  tan(nrx+0)=tan0 (n : #H)
1/sin 0 =sec 0 . 1/cos 0 =cosec 0 , 1/tan 0 =cot 0 (& FE Y H72\>)
W =ABI% 0 =arcsin(a/c) = arccos(b/c) = arctan(a/b) = sin'l(a/c) = cos(b/c)
= tan'1(a/b) (1/ sin(a/c) TiX72vY)
sin20+cos20 =1, A-sin0 +Bcos 0=y (A*2+B*2)cos (0-a) «=arctan(A/B)
sin(a+ B )=sin « *cos S +cos a *sin B, sin2 a=2-sin a *cos
cos(a+B)=cosa cosB-sinwa sin . cos2a=cos2a-sin2a
HEO =BT alsin a =b/sin B =c¢/sin y =2R.

a2=b 2+c 2-2bc-cosA, b2=-++- 2=+~

FEEBIS. *H B,
y=ax, y=ex (e=2.718:++ XA ET#) % y=exp(x)tFil. m=n & am=ar
y=eix=cosx+i*sinx, y=eix=cosx—1i-sinx (A A F7—DnK)
y=ax — x=logay  (Ffa#BIE OB . 1T y=logax.
logaa=1, logal=0. logayz=logay+logaz. logay/z=logay-logaz. logayk=k:logay.
logab=logcb/logea, m=n & logam=logan ([ D%IE % HL )
a (&) =10 %% Hx#—y=logx (EZANK)
a (&) =e (XA ETH) ZHAME — y=lnx (EZHME L, In TKL)

B DIEH
757, x OERGIZxT D y DL % xy T CHRT,
SO T 7 (1B, 2 REEK. =A%, FEEEIE. EEXD .
HARD 7 Z 7 (y=ax+b), HD 7T 7 (x2+y2=r2), ¥MHOBE% (x2/a2+y2/b2=1) .
W (E#EY) ORIk (y=a-sin(x+0)). #RiE, A2AH, BB, B
W - ORI (y=a-e¥T, y=a-(1-e¥T))
W, (T, MoEfEEME, Mo miE, K,



